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BEANRE SHISERE IR B8t b 28RBS 8 B R R 58 TH(E2R)

4 [ I - KT By B = B M & % =

EEIEE 100, 347, 808
ERAERE 100, 347, 808
BEYRET 30, 393, 144
BET 30, 393, 144
Jovy ok 30, 393, 144
1Ky I #E - /&) AEIOoy-8.0tE W81t/ KL — ke 370. 00 42,687 15, 794, 190

&
2 HRIBYvIRE - REQ AEI7Oovy 8.0t & W=8. 1t/ ki — ke 342. 00 42,687 14, 598, 954

&
HEMT 30, 249, 306
HERERT 30, 249, 306
R 30, 249, 306
3 ARBEROERA HA5~100ke/ERRE 10mkKis 2,699. 00 6, 309 17,027, 991

m3
4 HRERQOEA HA100~300ke/MEFRE  10mK i 1,087.00 6, 963 7,568, 781

m3
5 BEOARHL +5cm #A5~100ke/fEFEE 10mKH 170. 00 14, 259 2,424,030

m2
6 BROFHL +50cm #ES~100kg/fEIEE 10mKRiE 41.00 5,304 217, 464

m2
THEAEQORHL +30cm F100~300kg/(EFEE 10mKH 432. 00 6,970 3,011,040

m2
ARI [Fov =] 5,306, 573
AEToy IEAT 5,306, 573




BERRE

SIBFEERSERN P RERBEEBREFEETEER

£ 5 R - AR Bify #H = B @ ) i
AERIJOv o EA 5,306, 573
8 BEREKRT Y MRE 9.95x2.06x0.08 3.77t/#& 4.00 343, 844 1,375,376
¢
9 EI5—TRYVEE BEER Kb W=87. 1t/{8 (2f&) . LB W=91.1t/{@ 4.00 4,974 19, 896
2{A
(21&) B
10 £5—20 v Y&k - (1) ZEEE Kk W=87. 1t/ (2f&) . £B& W=91.1t/{@ 4.00 179, 044 716,176
2{A
(21&) B
M 2L53—70v9EH - Q) ZEEE Kk W=93. 9t/M@ (2f&) . £ W=91.1t/{@ 4.00 179, 044 716,176
2{A
(21&) B
12 REEHEA HA5~100kg/ERRE 465. 00 5, 060 2,352, 900
m3
13 hEEHL [z 71.00 1,637 126, 049
m2
2 -REBT 21,357, 637
=AT 21,357, 637
TAH 20, 694, 162
14 ZAMTA HA5~100kg/ERRE 2,377.00 8,706 20, 694, 162
m3
Btk 663, 475
15 80 B #haR et (1) t=bmm fEE 13.00 11,575 150, 475
m
16 B58S B #hiR B4t (2) t=bmm K 24.00 21,375 513, 000
m
5T 4,479,790
EHavs Y-+ 4,479,790
X3 616, 280




BERNRE SRR BiSI8 i oh RS KBS E s 5 R 5558 TH(E2R)
4 [} IR - WAKTiE B = B {f ) i
17 ZRHEIHEI gEhnk 40. 00 15, 407 616, 280
m
B3 769, 545
18 $HBUR 2 4E T A4 gk 49. 00 15, 705 769, 545
m2
e B th 24,500
19 iR E i EEWMEER t=10mn 10. 00 2, 450 24,500
m2
EEaHY—F 3,069, 465
20 a5 ) — FEHE BENTY b 115. 00 7, 695 884, 925
m3
21 325 )— MTHR 18-8-40BB W/C65%LL T 115. 00 18, 996 2,184,540
m3
BE - RBET 8,561, 358
HEL 8,561, 358
HEL 8,561, 358
22 WERHRA HE300~500kg/AEE 10mKiE 485. 00 7,269 3,525, 465
m3
23 HERHL +50cm  $#7H300~500ke/fEFERE  10mkKiik 372.00 6,614 2. 460, 408
m2
24 wEIOY Y ER - RE A b—=rTOyv4tE W=3. 6t/{@ 99. 00 3,287 325 413
&
25 WE IO v & - T A b—rTOvs4E W=3. 6t/ 99. 00 22,728 2,250,072
&
HBERRE FBEL) 4, 406, 293
HBRER 4, 406, 293
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% L] R - RARSTiE BfL % 8 B ® # m o=

HBEREE 4,406, 293
ERE 4,111,093
EERmaR EFE R 4,111,093
26 S ERAASEK o8—37 L—r200thm #FE 1.00 4,111,093 4,111,093

=
| 186, 000
£ 186, 000
27 (TRIRRE KTiE4E SNCE 11X 1.00 186, 000 186, 000

=
RifEEE 109, 200
BifrEE 109, 200
28 HMTEEE E-AYUUREILRE 1.00 109, 200 109, 200

=
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£ g R - KSR Bifr B 2 B i & B W =
EREIEE 100, 347, 808
MEIEE 11,972,516 + 26,002, 155 37,974, 671
HERERE GDH 4,406,293 + 6,923,998 + 642,225 11,972,516
HBRBE (FEL) 4,406, 293
HBREE (R) 100, 347,808 x 6.90% (4.80% +1.50% +0. 6%) 6,923,998
BSRENER 100, 347,808 x 0. 64% 642, 225
RisEEER 112,320,324 x 23.15% (21.72% +1.43%) 26,002, 155
T=Rfl 100, 347,808 + 37,974, 671 138,322, 479
—REEES 138,322,479 x 14.81% (14.81% x 1.00) — 3,366 20, 482,193
LR E 138,322,479 x 0.04% 55, 328
T &l 138,322,479 + 20,482,193 + 55,328 158, 860, 000
HEREELE 158,860,000 x 10.00% 15, 886, 000
HATRE 158,860,000 + 15, 886, 000 174, 746, 000
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&5 1
L% EEIRYOHME-REN) AMIOVS8.0tE W8 1t/ ML — sk 1B%Y (288)
% # s - MIkHE £ = R & B R " =
EEHM GEMEE) 5D 150t
B 1.00 801, 008. 00 801,008 6. 00H / 8H
5 £MD 700PS#EY
B 1.00 186, 765. 00 186, 765 2. 00H / 8H
Bk D 180PS#E! 3~5tF
B 0.80 154, 659. 00 123, 727 8H
sV
A 1.00 23, 500. 00 23,500
LEELR
A 3.00 18, 100. 00 54, 300
A £HRDY
% 0.50 1,189, 300. 00 5,946
= H YEZERED ¢ 28. 001@ 42,687.00 1,195, 246
E5:2
L EEIRYOME - REQ AMIOvS8.0tE W8 1t/ skt — skeb 1B%Y (288)
% # s - MIkHE £ = R & % R " =
EEHM GEMERE) 5D 150t
B 1.00 801, 008. 00 801,008 6. 00H / 8H
5 £MD 700PS#EY
B 1.00 186, 765. 00 186, 765 2. 00H / 8H
Bk D 180PS#E! 3~5tF
B 0.80 154, 659. 00 123, 727 8H
sV
A 1.00 23, 500. 00 23,500
LEELR
A 3.00 18, 100. 00 54, 300
A £HRDY
% 0.50 1,189, 300. 00 5,946
= H YEZERED ¢ 28. 00@ 42,687.00 1,195, 246




KT -FEIT/ SNV —2 SIRBEEEREEMMPRBEREBEREFEETSE2R)
5:3
& EEBEREOIRA #A5~100kg/EEE 10mKiH 1000m3 %KY
2 b g - BIRTE By o = B 4 ) W = " =
BR #A5~100ke/{&
m3 1, 300. 00 4,600. 00 5, 980, 000
Bkt D 180PS%E! 3~5tm
H 1.93 154, 659. 00 298, 491|8H
MR EXENOY
% 0.50 6,278, 491. 00 31,392
& i 1EZ%HEH : 1,000.00m 3 6, 309. 00 6, 309, 883
54
L AEEROB’A #HA100~300kg/ERE  10mkiH 1000m3 K1Y
2 b g - BIRTE By H = B ) # " =
#A #7100~300kg/ 1@
m3 1, 300. 00 5,100. 00 6, 630, 000
Bkt D 180PS%E! 3~5tm
H 1.93 154, 659. 00 298, 491|8H
MR EXENOY
% 0.50 6, 928, 491. 00 34, 642
& i 1EZ%HEH : 1,000.00m 3 6, 963. 00 6,963, 133
E5:5
W BEOXRHBLA) =*bcm #AS~100kg/EFEE 10mKiH 1B&Y (10.9m2)
2 b g - BIRTE By H = B ) # " =
Bkt D 180PS%E! 3~5tm
H 1.00 154, 659. 00 154, 659 8H
MR EXENOY
% 0.50 154, 659. 00 773
& i 1E%HESH - 10.90m 2 14, 259. 00 155, 432




KT -FEIT/ SNV —2 SIRBEEEREEMMPRBEREBEREFEETSE2R)
&S .6
W BEOREHBL  £50cm #AE5~100kg/EIRE 10mkiH 1BH&Y (29.3m2)
2 b g - BIRTE By = BHO(f ® W = " =
Bk D 180PSE! 3~5tH
B 1.00 154, 659. 00 154, 659 8H
MR EXENOY
% 0.50 154, 659. 00 173
& B YEZEREN : 29.30m 2 5,304.00 155, 432
&5 .1
£ BEQRHL  +£30cm #5100~300kg/fAFEE 10mkiE 1H&Y (22.3m2)
2 b g - BIRTE By = BHO(f ® W E " =
Bkt D 180PS%E! 3~5tH
B 1.00 154, 659. 00 154, 659 8H
MR EXENOY
% 0.50 154, 659. 00 173
& B YEZEREN : 22.30m 2 6, 970. 00 155, 432
5.8
A% BEERERKTy FRE 9.95%x2.06%0.08 3.77t/# 1B&HY (10%)
2 b g - BIRTE By = BHO(f ® W E " =
FAIT77ILETY b 9.95x2.06x0.08 3.77t/#&
® 10. 00 266, 000. 00 2,660, 000
J L—fitEh 35~40t /A
B 1.00 307,077.00 307,0776.00H / 8H
5fin £MD 300PS#EY
B 1.00 103, 345. 00 103,345 2. 00H / 8H
Bk D 180PSE! 3~5tH
B 2.00 154, 659. 00 309, 318 8H
U
A 1.00 23, 500. 00 23, 500
LEEXS
A 1.00 18, 100. 00 18, 100
MR EXENOY
% 0.50 3,421, 340. 00 17,106
& B 1YEZRES - 10. 004K 343, 844. 00 3, 438, 446




KT -FEIT/ SNV —2 SIRBEEEREEMMPRBEREBEREFEETSE2R)
&5 :9
& EILS—T0vYERE ZEE Kk W=87. 1t/ @) . LB W=91.1t/{& 2@ 1BHY (444E)
2 b g - BIRTE By = B ) W = " =
2 8a—3%9 L—r GAEREIR) 200t
B 1.00 140, 010. 00 140, 010 8H
LU
A 1.00 23, 500. 00 23, 500
LEEXS
A 3.00 18, 100. 00 54,300
MR EXENOY
% 0.50 217,810. 00 1,089
& B YEZRES - 44.001E 4,974.00 218, 899
&5 :10
& ELS—T0y Y B - B () AZEER KR W=87. 1t/@ @) . LB W=91.1t/{@ (2{&) 184Y (114@)
2 b g - BIRTE By = B ) W E " =
EEE M GEfEE) $D 300t
B 1.00 1,511, 374.00 1,511,374 6.00H / 8H
5 fia D 1500PSEY
B 1.00 310, 819. 00 310,819/2.00H / 8H
LU
A 2.00 23, 500. 00 47,000
LEEXS
A 5.00 18, 100. 00 90, 500
MR EXENOY
% 0.50 1, 959, 693. 00 9,798
& B YEZRES - 11.00/@ 179, 044.00 1,969, 491




KT -FEIT/ SNV —2 SIRBEEEREEMMPRBEREBEREFEETSE2R)
&5 11
& ELS—T0y VB - B (2) AZEEER K W=93.9t/@ ME). LB W=91.1t/{@ (2{&) 18%Y (114@)
2 b g - BIRTE By o = B ) W = " =
EEE M GEfEE) $AD 300t
B 1.00 1,511, 374.00 1,511,374 6.00H / 8H
5fin §fD 1500PSEY
B 1.00 310, 819. 00 310,819/2.00H / 8H
U
A 2.00 23, 500. 00 47,000
LTEEXE
A 5.00 18, 100. 00 90, 500
MR EXENOY
% 0.50 1, 959, 693. 00 9,798
& B YEZRES - 11.00/@ 179, 044.00 1,969, 491
5 :12
B hEMBRA #B5~100kg/[AFEE 1000m 34 Y
2 b g - BIRTE By H = B ) W E " =
ey #A5~100ke/{&
m3 1, 100. 00 4, 600. 00 5, 060, 000
& B 1EZ%HEH : 1,000.00m 3 5, 060. 00 5, 060, 000
&5 .13
£ hEHL EL 100m2%Y
2 b g - BIRTE By H = B ) W E " =
LEEXS
A 9.00 18, 100. 00 162, 900
MR EXENOY
% 0.50 162, 900. 00 814
& B 1E%HEH : 100.00m 2 1, 637.00 163, 714




KT -FEIT/ SNV —2 SIRBEEEREEMMPRBEREBEREFEETSE2R)
&5 :14
£ BAMEA #AL~100ke/[EEE 1000m 34 Y
2 b g - BIRTE By H = B ) W = " =
ey #A5~100ke/{&
m3 1,250. 00 4, 600. 00 5, 750, 000
g L—ftE 150t &
B 3.57 567,012.00 2,024,232/4.00H / 8H
5fin D 600PSEY
B 3.57 174, 821.00 624,110/2.00H / 8H
Bk D 180PS%E! 3~5tm
B 1.1 154, 659. 00 264, 466 8H
MR 2RD%
% 0.50 8,662, 808. 00 43,314
& B 1EZ%HEH : 1,000.00m 3 8, 706. 00 8,706,122
&5 :15
L% [FRY B #ARERST (1) t=bmm [EE 100m %4 Y
2 b g - BIRTE By H = B ) W E " =
Fr5d B ik =5~ 6mm
m 103. 00 4, 340. 00 447,020
AR T=6. Omm B=65mm
k g 660. 00 122.00 80, 520
50 B ik B <+ (e EFET)
m 100. 00 6, 300. 00 630, 000
& Hi 1EZ%HEH : 100.00m 11,575. 00 1,157,540
&5 :16
£ : BFRY B #ARERAT (2)  t=bmm KR 100m 1
2 b g - BIRTE By B = B ) W = " =
FrHd B ik t=5~6mm
m 103. 00 4, 340. 00 447,020
AR T=6. Omm B=65mm
k g 660. 00 122.00 80, 520
8D B #itR AT OKHHET)
m 100. 00 16, 100. 00 1,610, 000
& Hi 1E%HEH : 100.00m 21,375.00 2,137, 540
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&= .17
£ ZRMIESN EHK 100m& Y
2 b g - BIRTE By = BHO(f ® W = " =
X REMEN EAR) yL—rtkE
m 100. 00 6, 300. 00 630, 000
5 fia £MD 350PS#EY
B 2.00 109, 530. 00 219,060/2.00H / 8H
EEE M GEfEE) $AD 30tH
B 2.00 345, 826. 00 691, 6526.00H / 8H
& Hi YEZERESD : 100. 00m 15, 407. 00 1,540, 712
&= .18
& SHRE ARSI AN EARK 100m2 %Y
2 b g - BIRTE By = BHO(f ® W E " =
BB A RS (AR yL—rtkE
m2 100. 00 8, 400. 00 840, 000
STFL—29L—r A AR ER) ChEES IR 16tH
B 1.00 47, 500. 00 47,500 8H
EEE M GEfMEE) $AD 30t&H
B 1.50 345, 826. 00 518, 739/6.00H / 8H
5 fia £MD 350PS#EY
B 1.50 109, 530. 00 164,295 2. 00H / 8H
& B YEZERES : 100.00m 2 15, 705. 00 1,570, 534
&5 19
& @iEEH EEHMMEZEZR t=10mn 100m2%HY
2 b g - BIRTE By = BHoO(f ® W = " =
HEEHTI (BEEER) t=10mm
m2 100. 00 2,450.00 245,000
& Hi YEZERES : 100.00m 2 2,450.00 245, 000




KT -FEIT/ SNV —2 SIRBEEEREEMMPRBEREBEREFEETSE2R)
E5:2
&M arvy)—LER BEANAYYk 100m3ZY
2 b g - BIRTE BT o = B O %8 W = " =
EEE M GEfEE) $AD 30tH
B 1.60 322, 795. 00 516,472 /4.00H / 8H
5 fia £MD 350PS#EY
B 1.60 121, 380. 00 194,208 4. 00H / 8H
avyy—rkn\gry bk 5. 0m3
B 9. 60 5,730.00 55, 008
MR 2E0%
% 0.50 765, 688. 00 3,828
& B YEZERES : 100.00m 3 7,695. 00 769, 516
&5 21
& avy)—3$TEk  18-8-40BB W/C65%LL T 100m3ZY
2 b g - BIRTE BT H = B O %8 W E " =
LT4—3HRbarvy)—+F 18-8-40BB W/C65%LL T
m3 104. 00 14, 900. 00 1,549, 600
a9 1) — T (EETEE) BTy k- BEANATY F
m3 100. 00 3, 500. 00 350, 000
& Hi YEZERES : 100.00m 3 18, 996. 00 1,899, 600
&5 .22
2 HEBEAEA #B300~500kg/EFEE 10mkiH 1000m3 &Y
2 b g - BIRTE BT H = B O %8 W E " =
WEE HE300~500ke/(ETERE
m3 1, 300. 00 5,200. 00 6, 760, 000
Bkt D 180PSE! 3~5tH
B 3.06 154, 659. 00 473, 256 8H
MR EXENOY
% 0.50 7, 233, 256. 00 36, 166
& B YEZERES - 1,000.00m 3 7, 269. 00 1,269, 422




KT -FEIT/ SNV —2 SIRBEEEREEMMPRBEREBEREFEETSE2R)
&5 .23
& HBRHML  £50cm 3#H3I00~500kg/EFEE 10mFKiH 1H&Y (23.5m2)
2 b g - BIRTE By = BHO(f ® W = " =
Bkt D 180PSE! 3~5tH
B 1.00 154, 659. 00 154, 659 8H
MR EXENOY
% 0.50 154, 659. 00 173
& B YEZEREN : 23.50m 2 6,614.00 155, 432
BS54
% HBEIJOVYER -RE RXb—1TJOvys4tE W=3.6t/@ 1BHY (12448)
2 b g - BIRTE By = BHO(f ® W E " =
STFL—29L—r A AR ER) GhE i J8) 25t/
B 1.00 52,000. 00 52,000 8H
STFL—29L—r A AR ER) GhE i J8) 25t/
B 1.00 52,000. 00 52,000 8H
AR 11t35
B 4.00 45, 554. 00 182,216 4. 70H / 8H
U
A 2.00 23, 500. 00 47,000
LEEXS
A 4.00 18, 100. 00 72, 400
MR ELNOY
% 0.50 405, 616. 00 2,028
& B 1YEZHED ;- 124. 001& 3,287.00 407, 644




KT -FEIT/ SNV —2 SIRBEEEREEMMPRBEREBEREFEETSE2R)
&5 .2
W HmBEIOVYER - EMF R b—rTJOvs4tE W=3.6t/@ 1% Y (35@)
2 b g - BIRTE By = BHO(f ® W = " =
g L—ftEM 80t &
B 1.00 427,291.00 427,291/6.00H / 8H
5fin £MD 500PSZEY
B 1.00 162, 713.00 162,713/2.00H / 8H
Bk D 180PSE! 3~5tH
B 0.80 154, 659. 00 123,727 8H
U
A 1.00 23, 500. 00 23, 500
LTEEXE
A 3.00 18, 100. 00 54,300
MR EXENOY
% 0.50 791, 531. 00 3,957
& B 1EZHES - 35. 001@ 22,728.00 795, 488
&S .26
L DEMEMER s0—549L—2200tR #E 1LY
2 b g - BIRTE By = BHO(f ® W = " =
STFL—29L—r A AR ER) GHhE e > I 50t HR
B 5.70 95, 500. 00 544, 350 8H
HIRIEXS
A 20. 50 25, 400. 00 520, 700
EfREEE YEIEE O
% 286. 00 1, 065, 050. 00 3,046, 043
& Hi 1E%HeH - 1.00K 4,111,093. 00 4,111,093
&5 .27
£ ATIRAEERE  MTIFHE SNCE! 11X 1LY
2 b g - BIRTE By = BHoO(f ® W = " =
(TiZIZERE yL—rtkE
& 1.00 186, 000. 00 186, 000
& Hi 1E%HeH - 1.00K 186, 000. 00 186, 000
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SIREERREABhhREREEEREFEETEGELR)
&5 .28
& BiTEEE T-4)UJRABILRE IEED)
£ 5 L - BIRTiE BAf = B & % = & &
BifTEEE
= 1.00 109, 200. 00 109, 200
& Hi 1YE%HeRH 1,00 109, 200. 00 109, 200
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